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£ b1 5 = & | B i 4] &
RN X
I| #ETEHE 1] K 45,333,023
ERCERE ¢ 45,333,023
Hm
1| Hamaes 1] K 1,629,761
0| Higis s 1 K 3,862,214
— R 1] & 7,161,241
@A 12,653,216
&5 57,986,239
T EMmAS SREES A7t e 57,986,000
TH B Bl S AH 24 %R 5,798,600
WA (LEE) 63,784,600
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% b i3] = # 2 Bifg B i & )
I |BEITS
Al | ZE=ERf 1 =X 22,969,611
A2 BT R 1 = 20,563,846
A3 |IEVERT 1 K 1,799,566
e 45,333,023
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% b i3] = # 2 Bifg B i & )

Al |HER
Al-1|E G T 5 1 K 968,700
Al-2 [NER k& T 5 1 =& 683,800
Al-3|BESRETF 1 3K 1,101,418
Al-4 | EETH M 1 = 19,162,994
Al1-5 | sy 1 3K 1,052,699

&t 22,969,611
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% E7 i3] = 2  Hf i ) &

A2 |t RE
A2-1 | EHE R T 1 K 1,392,870
A2-2 [BhKdfE L% 1 = 3,553,065
A2-3 |/ EESE 5 1 3K 2,639,038
A2-4 [NER k& T 5 1 =& 11,697
A2-5 |t B & T3 iy 1 3K 12,521,480
A2-6 |- Aoy 2 1 = 445,696

&t 20,563,846
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A3 |EVYERT

A3-1 | EHE R T 1 K 117,750
A3-2 [BhKdfE L E 1 = 32,592
A3-3 |/ EESE 5 1 3K 724,909
A3-4 | BEUETF il 1 =& 767,330
A3-5 | - vy 1 3K 156,985

&t 1,799,566




